> A
A & 0l & AF 2 E A A
20208 = =0l &t LB DEALE S ~ DEAHAE =
Az ZEALER SN LAY
M M XG0l 20T A= M3 2HE
ool NREYH 51 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
o8 HE= 151,726,026 199,378,074 AA47,652,048
= 9,520,366
s 40,531,800
EN 429,000
< 101,244,860
fag=—R-—gainiy 28,657,527 59,016,588 A 30,359,061
= 131,000
s 12,976,800
EN 150,000
< 15,399,727
& XG0l 21T FMsE Atz A4 2,135,600 3,294,000 A 1,158,400
= 131,000
< 2,004,600
NAgeed =4 2,038,600 2,850,000 A 811,400
= 131,000
=) 1,907,600
NLEXN+=ERARS 29 15,600 15,600 0
201 Let24E] 15,600 15,600 0
01 At 22l 15,600 15,600 0
OEXN+EMZ 48 9% U 9N 29 15,600
MESHAE HEAEY 1,892,000 2,634,400 AT42,400
403 A X EHHS =0l A 1,892,000 2,634,400 AT42,400
01 X SHHXN2E = 1,892,000 2,634,400 AT42,400
OMEESHAIL HLAY 1,892,000
S0 FHIY S XNEAY =& 131,000 200,000 A 69,000
= 131,000
403 MHXSHHSA=0l& 131,000 200,000 A 69,000
= 131,000
01 HXSHMA=LE X 131,000 200,000 A 69,000
OFstdlz S+ FEHISA NI AMY 131,000
= 131,000
OlchHXIe® SAIHE =8 16,000 366,000 A 350,000
SAHE =g 2435 2,000 2,000 0
201 Let24E] 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
OEAMA=ARE 29 2,000
SAAEEEMAH SN2+ 14,000 14,000 0
201 et 14,000 14,000 0
02 2324l 14,000 14,000 0
OZAMAHAHFEMA(UPIS) FXE = 14,000
TEYN =RV GRFA 81,000 78,000 3,000




AR pgAL= SN REEHD
M M XG0l 20T A= M3 2HE
C9l: RHYUN T80 ALEX (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
DN =R HEFA 44,000 41,000 3,000
203 @R =&l 44,000 41,000 3,000
03 AIHF=XH R =AH| 44,000 41,000 3,000
OnELH FRE J2FX 44,000
TELEHYR =4 37,000 37,000 0
201 Zet24l 33,000 33,000 0
01 At 2t 2l 33,000 33,000 0
OBt & =2l 33,000
202 (44l 4,000 4,000 0
01 SLHOIYI 4,000 4,000 0
OX LAY & AR =& 0| 4,000
oY A0 KNGO 22,376,800 23,585,817 A 1,209,017
s 12,976,800
EN 150,000
< 9,250,000
AGoHe=a 22,226,800 23,435,817 A 1,209,017
s 12,976,800
< 9,250,000
PRS-/ = ONE 5,034,000 8,698,000 A 3,664,000
s 5,034,000
403 A X EHHS =0l A 5,034,000 8,698,000 A 3,664,000
s 5,034,000
01 X EHHM A= E L 5,034,000 8,698,000 A 3,664,000
OZEEZE XGHL AL 5,034,000
s 5,034,000
NE+=2 IS AY 3,437,000 1,804,000 1,633,000
s 3,437,000
403 X SHHSA=0l& 3,437,000 1,804,000 1,633,000
s 3,437,000
01 HXSHMA2E X 3,437,000 1,804,000 1,633,000
OXNg=2 ASAAAY 3,437,000
s 3,437,000
SEXNEEX T XA 3,241,000 1,900,000 1,341,000
s 3,241,000
403 MtXISHHE X201 & 3,241,000 1,900,000 1,341,000
s 3,241,000
01 AXISHH A2 E= 3,241,000 1,900,000 1,341,000
OFXNEEX T X3 AS 3,241,000
s 3,241,000
HEXS JIBAIE XA (HSALS) 8,480,000 7,350,000 1,130,000
403 A X EHHS =0l A 8,480,000 7,350,000 1,130,000




A2 REAL= SN BELAED
M AEANO XY
Sl NEHLEW (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 XIS A2 X 8,480,000 7,350,000 1,130,000
OHEXE JIBLAIE K& ALE 8,480,000
WEH U8 HE HA 205,000 0 205,000
207 I | 180,000 0 180,000
01 A& | 180,000 0 180,000
OUWSENMNIEH NSEHE HEE2Y 180,000
308 XX SHAHSOIH 25,000 0 25,000
07 MIXSHHM2UAREESE S 25,000 0 25,000
OWSHAR LHESHHE HYB 25,000
HE X2 FOX A 1,232,000 3,535,617 N2,303,617
Fag 1,232,000
403 XX SHHS K20 ™ 1,232,000 3,535,617 N2,303,617
g 1,232,000
01 XIS AZ2E X 1,232,000 3,535,617 N2,303,617
OMgMe e FOXFAS(LHEXH) 1,232,000
Fag 1,232,000
N M8 <& 22l dl 5,000 5,000 0
g 5,000
202 044 5,000 5,000 0
Fag 5,000
01 2L I 5,000 5,000 0
OMNg st 22l ot 5,000
= 5,000
JHE ISt 22l (Al2) 27,800 23,200 4,600
= 27,800
308 MXISHMSOIA 27,800 23,200 4,600
Fag 27,800
01 AIXSHMENEXZ 27,800 23,200 4,600
OMNL XM &t 22l 27,800
oy 27,800
CHEE=Z S 22 130,000 120,000 10,000
401 AlEHIZL 2 0HY| 130,000 120,000 10,000
01 Al&H| 130,000 120,000 10,000
OEHXTEHE S X B 10,000
OEHXEE HA(JI2 L AAEH) 120,000
THOIS SEMNEALE 435,000 0 435,000
403 XX SHHS K201 H 435,000 0 435,000
01 XIS RS2 X 435,000 0 435,000
OEZAHOIS EHMNLAIY 435,000
S AN 2t 150,000 150,000 0
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AZ: RYALR SN BEEED
M HY2IZH(FELAED)
Sl =B CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 et ESFH S 6,000 0 6,000
OHLHE D] 6,000
Heas(zgedn) 4,000,000 32,000,000 28,000,000
WEHHX S 4,000,000 32,000,000 A 28,000,000
HEHeH X = 4,000,000 32,000,000 A 28,000,000
701 JIEtEI HSEES 4,000,000 32,000,000 28,000,000
01 JIEte HE == 4,000,000 32,000,000 A 28,000,000
OXNGZELNMELSN H&23 4,000,000




A & 0l & AF 2 E A A
20208 = =0l &t LB DEALE S ~ DEAHAE =
432 PEALR A==
M Helotn otdE E2% A5
& XeEe2 2el (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
S22 76,944,716 103,626,172 A 26,681,456
s 16,718,000
N 279,000
< 59,947,716
Heldtn etEE S 2d RH 62,727,076 79,893,582 A 17,166,506
s 16,718,000
EN 279,000
< 45,730,076
gz 2e 164,582 140,582 24,000
ANLE NS T A 95,000 71,000 24,000
401 AIEHI L 20 95,000 71,000 24,000
01 A& HI 95,000 71,000 24,000
ONYE WSS A 95,000
g9 2el 69,582 69,582 0
308 MtXIEHSOIH 69,582 69,582 0
01 HXNHHBHELS 69,582 69,582 0
OXNge 3&729 2e| 69,582
NSt S AN AL 4,822,000 3,243,000 1,579,000
s 4,543,000
N 279,000
WSMD 2 HEAY 1,499,000 588,000 911,000
s 1,499,000
403 UHXSHHSA=0l& 1,499,000 588,000 911,000
s 1,499,000
01 X SHMA2E X 1,499,000 588,000 911,000
Ous At 2= e ALY 1,499,000
s 1,499,000
Helol 25729 ALY 824,000 955,000 A 131,000
ras 824,000
403 MtXISHHE X201 & 824,000 955,000 A 131,000
as 824,000
01 XM A=2EE 824,000 955,000 A 131,000
O0eol Esa49 Ha A 824,000
s 824,000
QM B ElEH T HAY 1,200,000 650,000 550,000
s 1,200,000
403 A X EHHS =0l A 1,200,000 650,000 550,000
s 1,200,000
01 AXSHHMA2E = 1,200,000 650,000 550,000
OQtdst Bl sy TAAY 1,200,000
s 1,200,000
MEA OHEZ ZHAMY 60,000 150,000 A 90,000




432 PEALR A==
M Heloln OFE TRY 7S
CHel: XD EOHH B N & ALY (B9 ®R)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
E 60,000
403 RXSHS K20l & 60,000 150,000 ~90,000
N 60,000
01 XM A2E X 60,000 150,000 A 90,000
OMg 0|HEZ FHIAMY 60,000
EN 60,000
AIMDIZ HXAY 840,000 700,000 140,000
s 840,000
403 UtXISHH S X201 & 840,000 700,000 140,000
as 840,000
01 XM A=2EE 840,000 700,000 140,000
O3l&dUXZ XA 840,000
s 840,000
LESHHE HHALY 399,000 200,000 199,000
s 180,000
EN 219,000
403 A X EHHS 20l A 399,000 200,000 199,000
s 180,000
EN 219,000
01 X HMA=2E X 399,000 200,000 199,000
OLEs3d HHAS 399,000
s 180,000
EN 219,000
AET=2FZME 1,370,000 416,000 954,000
s 1,370,000
FAEEZ 2ZMHEAS 1,370,000 416,000 954,000
s 1,370,000
403 RX S HS K20l & 1,370,000 416,000 954,000
s 1,370,000
01 HXSHMA2E X 1,370,000 416,000 954,000
ORAE T2 AZMHLASE 1,370,000
s 1,370,000
IHKNNFNL S TIHAMNS 17,791,690 26,628,000 28,836,310
as 10,805,000
< 6,986,690
L2-25FI1C =& A4 2,923,000 3,566,000 A 643,000
as 2,047,000
< 876,000
401 Al Bl 28I 2,923,000 3,566,000 A 643,000
= 2,047,000
< 876,000
01 A& HI 2,713,000 2,859,000 A 146,000
Ok2-S5=FI1C = N&AdL 2,713,000
s 1,900,000




Az ZEALER M4 20
M Heloln OFE TRY 7S
S VDKL S EIIZAY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 813,000
02 Zteltl 210,000 707,000 A 497,000
Ok2-85=FIC I NEAHE 210,000
s 147,000
= 63,000
SE-g2t 2XNE A4 3,809,000 14,634,000 A 10,825,000
s 2,456,000
= 1,353,000
401 Al HIZ 201 8] 3,809,000 14,634,000 A 10,825,000
as 2,456,000
=) 1,353,000
01 A& HI 3,705,000 14,220,000 A 10,515,000
OdE-22 FIXNE A4 3,705,000
s 2,383,000
< 1,322,000
02 Zeldl 100,000 400,000 A 300,000
OME-&2t FIXNE A4 100,000
s 70,000
< 30,000
03 Al S THHI 4,000 14,000 210,000
OdE-22 FIXNE A4 4,000
s 3,000
< 1,000
fa-=2d2 FIXNE H4 4,300,000 7,642,000 A 3,342,000
s 1,610,000
< 2,690,000
401 Al HI K 201 I 4,300,000 7,642,000 A 3,342,000
s 1,610,000
< 2,690,000
01 A& HI 4,200,000 7,331,000 A 3,131,000
Odzs-3d =Xk A& 4,200,000
s 1,540,000
= 2,660,000
02 2teltl 100,000 300,000 A200,000
O¢s-24d 2XNE A4 100,000
s 70,000
< 30,000
SUS2-2FIC ZXNE AL 6,703,000 786,000 5,917,000
s 4,692,000
< 2,011,000
401 Al HI L =2 Tl 2,703,000 786,000 1,917,000
s 1,892,000
< 811,000
01 A& HI 2,379,000 700,000 1,679,000
OR4s=2-2%I1C XN A4 2,379,000
s 1,665,000




432 PEALR A==
o polotn QNS S22 IS
Chel: ZOAI A Y &I &AL (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 714,000
02 Zteltl 300,000 84,500 215,500
ORHES2-2FIC FIXNE A4 300,000
s 210,000
= 90,000
03 A2 2 THHI 24,000 1,500 22,500
OR4=s2-2%I1C 2N A4 24,000
s 17,000
< 7,000
403 UHtXSHHSA=0l& 4,000,000 0 4,000,000
s 2,800,000
< 1,200,000
02 S 2S00 CHE A = H 2 & AL H 4,000,000 0 4,000,000
ORHEZ2-2FIC FIXNE A4 4,000,000
s 2,800,000
< 1,200,000
SNE AIZEZ IS T A 56,690 0 56,690
401 Al HIZ 201 8] 56,690 0 56,690
01 A& HI 56,690 0 56,690
O=XE& A=SZISIZA 56,690
Negez 3l 34,578,804 48,886,000 A 14,307,196
HA-&8 XYE STZBA 5,000,000 6,000,000 ~1,000,000
401 AIEHI L 201 5,000,000 6,000,000 A 1,000,000
01 A& HI 4,995,000 6,000,000 A 1,005,000
OlAa-&4 XNEE SHEZIIA 4,995,000
03 AlE 2 THHI 5,000 0 5,000
OtiA-&d NLE SHETTIAM 5,000
Cet-BHd XY SEFHISAM 3,500,000 4,500,000 21,000,000
401 Al HI L 2 THHI 3,500,000 4,500,000 1,000,000
01 A& HI 3,250,000 4,132,000 A 882,000
OUS-EHE NEE SHIEZIIA 3,250,000
02 Zeltl 250,000 365,000 A 115,000
OUE-EHE XNEE SHZHIA 250,000
HE-SEIC AN SZFI3A 1,500,000 1,800,000 A 300,000
401 Al HIZ 201 Y] 1,500,000 1,800,000 300,000
01 A& HI 1,397,000 1,797,000 A 400,000
OUE-8EIC YT SHEZFZA 1,397,000
02 Zeltl 100,000 0 100,000
OUE-3EIC XYL HEZZSA 100,000
03 AIE 2 THHI 3,000 3,000 0
OUE-8EIC YT SHEZFZA 3,000




42 pEALR A =20
M Helotld otME E2 2=
el NYE2 Fl (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
NLE DIXN=SEBXN 28 1,000,000 800,000 200,000
401 Al HI K 201 I 1,000,000 800,000 200,000
01 A& HI 1,000,000 800,000 200,000
OXNgZ 0IXN=EX 24 1,000,000
NEE2 JHAME 29 43,000 36,000 7,000
201 Zet24l 33,000 30,000 3,000
01 AFR2t2lHl 30,000 0 30,000
OXYgE g0 ML R 30,000
02 2324gHl 3,000 30,000 A 27,000
Oet=2=2us82s 2494 X2 3,000
203 YR =&l 10,000 6,000 4,000
03 AIHZ=XH R =AY 10,000 6,000 4,000
OXNEEZ ALY =2l 10,000
OHat-=01 NYE SHEZFISA 3,000,000 8,000,000 25,000,000
401 Al HIZ 201 8] 3,000,000 8,000,000 25,000,000
01 A& HI 3,000,000 7,993,000 A 4,993,000
Olfist-S0 N HEZIIA 3,000,000
ZE-TE L SZHEIA 3,000,000 2,500,000 500,000
401 AIEHI L 2 CHYI 3,000,000 2,500,000 500,000
01 A& HI 2,730,000 2,496,000 234,000
Ox=&-38 Ngr HEIIIAM 2,730,000
02 Zeltl 266,000 0 266,000
OxF-8E NLT HZHIAM 266,000
03 Al S HHI 4,000 4,000 0
Ox=&-38 Ngk HZIIAM 4,000
ME-Q4 N SEIZA 500,000 3,000,000 A 2,500,000
401 AIEHI L 201 500,000 3,000,000 A 2,500,000
01 A& HI 498,000 2,995,000 A 2,497,000
OUE-24 TLE SHETTIAM 498,000
03 A& S THHI 2,000 5,000 A 3,000
OUE-24 X HEIIIAM 2,000
LE S22 SFEZEAZAM 500,000 2,500,000 A 2,000,000
401 AIEHIZL 20 500,000 2,500,000 22,000,000
01 A& HI 499,000 2,493,000 A 1,994,000
Ofd =22 SZHIA 499,000
03 Al 2 THHI 1,000 7,000 26,000
OfE =52 EZHIA 1,000
S84 NLE SZHIA 2,000,000 2,000,000 0




432 PEALR A==
M Heloln OFE TRY 7S
& XYE2 FH (=& J)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 2,000,000 2,000,000 0
01 A& HI 1,995,000 1,993,000 2,000
O3&-84d NLdE ST IAM 1,995,000
03 A2 S THHI 5,000 7,000 A 2,000
O=g-4d N HZIIAM 5,000
Hst-50] NEE SHEZEAIAM(23R) 1,000,000 2,000,000 A 1,000,000
401 AIEHIZL 2CHYI 1,000,000 2,000,000 21,000,000
01 A& Hl 997,000 1,995,000 A998, 000
Olfg-S0l NgE HEZAIZA(RBR) 997,000
03 AIE S THHI 3,000 5,000 A2,000
Olfist-S0l N&EE SHEZAIZAM(23R) 3,000
LEXGHUHSE WA S A 3,000,000 3,500,000 A 500,000
403 XIS E X201 E 3,000,000 3,500,000 A 500,000
01 X SHHAN2E = 3,000,000 3,500,000 A500,000
O2LEXIGHEIHE S A 3,000,000
Ne-5 8 NYE S$2E SA 2,000,000 3,500,000 A 1,500,000
401 AIEHI L 20 2,000,000 3,500,000 A 1,500,000
01 A& Hl 1,797,000 3,496,000 A 1,699,000
OX4-53 XNEE SHEZEHIA 1,797,000
02 2feldl 200,000 0 200,000
OX&t-2 8 N HEZIIAM 200,000
03 Al 20 HI 3,000 4,000 A 1,000
OX4-53 XNeEE SHEZEHIA 3,000
EE-OtE XY SHEHESAM 2,000,000 600,000 1,400,000
401 Al HIZ 201 I 2,000,000 600,000 1,400,000
01 A& HI 1,850,000 597,000 1,253,000
OEE~IIE NLE SHEZTIM 1,850,000
02 2teldl 150,000 0 150,000
OEE~IIE NEE SHEZIIA 150,000
g4~z NEE SHEIIA 2,000,000 1,200,000 800,000
401 Al HI K 201 I 2,000,000 1,200,000 800,000
01 A& Hl 2,000,000 1,197,000 803,000
Oga~a= NLE SZFE A 2,000,000
S ZSE2 HEZA 3,000,000 0 3,000,000
401 A& HIZ 201 I 3,000,000 0 3,000,000
01 A& HI 2,995,000 0 2,995,000
O 2852 MHESA 2,995,000
03 Al S THHI 5,000 0 5,000




432 PEALR A==
M Heloln OFE TRY 7S
Sel Y2 F ER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
O 282 MHESA 5,000
S~Xe NS E SEEF DA 1,500,000 0 1,500,000
401 A& HIZ 2018 1,500,000 0 1,500,000
01 A& HI 1,495,000 0 1,495,000
Og~Xe NEE SHILIZA 1,495,000
03 Al 2 THHI 5,000 0 5,000
Os~R& XNSEE SEZEHIA 5,000
NLE AZSFISZA 35,804 0 35,804
401 Al HIZ 201 Y] 35,804 0 35,804
01 A& HI 35,804 0 35,804
OXLE ANZSHHISIAM 35,804
23z AFE2d 2= 4,000,000 ,000 3,500,000
230132 XNgE LI IA 4,000,000 ,000 3,500,000
401 Al HIZ 201 8] 4,000,000 ,000 3,500,000
01 A& HI 3,420,000 ,000 2,923,000
O8=-0132 XNgx SHELIIA 3,420,000
02 Zeltl 580,000 0 580,000
O8=3-0142 XgE SHELEFIA 580,000
= L Holes NFALMH sS4 375,000 ,000 A50,000
HAL LY BAS) 3,000 ,000 0
Agagads g2 = 3,000 ,000 0
201 Let24d] 3,000 ,000 0
01 At 22l 3,000 ,000 0
OsY S=25 L LN 3,000
NHEE2 Hy| 372,000 ,000 A50,000
SAHEESZ EH A 372,000 ,000 A50,000
403 UHXSHHSA=0l& 372,000 ,000 A50,000
01 XM A2E X 372,000 ,000 A50,000
OZANHEETZ HHIAZ 372,000
& X & 210,000 ,000 0
EREESECmE S 210,000 ,000 0
EZANEZE E0F 210,000 ,000 0
308 XX EHSOIA 210,000 ,000 0
02 8+uT= 210,000 ,000 0
Oz AMNEE 210,000
HY2AZH (=2 1) 55,540 ,540 A 4,000
=3l 55,540 ,540 A 4,000




432 PEALR A==
HM: d¥2HFH(Z2 )
@2 Jl2&tl (e &)
AR 2N EH O () - MBEAY - BAS 0l &t il HZS2
JlE23Hl 55,540 59,540 A4,000
201 Bt H | 17,740 17,740 0
01 AP 22l Yl 17,740 17,740 0
OJl2+gtl 7,240
OJl=3 &l 10,500
202 O B 37,800 37,800 0
01 2LH 0 HI 37,800 37,800 0
OJl20 byl 37,800
MRES(=21) 13,577,100 23,038,050 29,460,950
WEHAH K= 13,577,100 23,038,050 29,460,950
WEHH K= 13,577,100 23,038,050 29,460,950
705 B2 24E 13,577,100 23,038,050 N 9,460,950
03 Al - SXEHEI | SH =24 9,330,000 17,520,000 A 8,190,000
O"10 XIS EHHIALS (XF&H) 2,000,000
O'"11 XN EHHIAFY (1) 1,000,000
O'"11 XNgx HHIA (2XH) 1,000,000
O'"11 XNYE HBIA (3XH) 850,000
O'"12 N HHALY 620,000
O'14 N HHIALE 1,000,000
O'"11 LEEA Az HE 450,000
OFHUENSIETZ Y8320 284 (1
xH) 400,000
ZHUHERDSSIEZE 23290 =2 HH| (2
xH) 690,000
O'11 2NN E ST E 390,000
OHFEUw AEAL(XHE) 240,000
Ol 2 ZXNE AHE(XHEH) 460,000
Ol2~22 2T AL (XHE) 230,000
04 Al - [ L IS0l =330l K&k 2t 4,247,100 5,518,050 A 1,270,950
O'"10 NI = HHIALS Xt 360,000
O'"11 NY=HHIAY(1XFH) 245,000
O'"11 XN HH|I ALY (2X}) 245,000
O'"11 XY =HHI A (3XF) 208,250
O"12 N =HHIAY 173,600
O'"14 N ZHHIALE 300,000
O'"15 N =HUIAY 300,000
O'16 N ZHHIAIE 375,000
O"17 N HHIAY 500,000
O'18 N EZHHIAIE 500,000
O"19 XY HUAY 400,000
O'11 LEYAI JgEz HA 110,250
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HoAu= 2N IEH
HelE DESE JWRE
£QX ZAY HEDE =4

g Al

- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
ZH b 38,492,003 29,363,065 9,128,938
= 3,991,052
g 10,837,000
& 23,663,951
HE|gh NE=SF JIet2= 38,430,886 ,300,825 , 130,061
= 3,991,052
= 10,837,000
o= 23,602,834
QA S UHzuE 84 19,182,495 ,978,412 204,083
= 471,750
g 3,250,000
o= 15,460,745
AMAHASESAIY HAE XS 3,807,500 512,500 295,000
307 QI2t0| & 3,740,000 3,400,000 340,000
09 LHAHEXS 3,740,000 3,400,000 340,000
OANMAHASSAY MEXRA 3,740,000
402 It X201 M 67,500 112,500 A 45,000
01 SI2ZtXIEANYEXR (MMM A) 67,500 112,500 A 45,000
OMtHE X X& 67,500
AN (sSHE)HA 2SAY I3 XA 6,766,013 016,013 750,000
308 XHXIGH SO0l & 6,766,013 016,013 750,000
01 AIKISHHEMNEXZ 6,766,013 016,013 750,000
OAUW(sHE)HA 2EAY HEXS 6,616,013
OAMUHA BF==2H284d XA 150,000
AMNHA IS UE KR 187,500 172,500 15,000
= 93,750
o 93,750
402 QI2H X =20l M 187,500 172,500 15,000
= 93,750
== 93,750
02 CIZEXIEANSE X (0| XM THL) 187,500 172,500 15,000
OANMHA REFSU3 XS 187,500
-HIAXNSHSEX &= XS 187,500
= 93,750
& 93,750
HIAENd &A8N 612,062 612,062 0]
308 XX SHHSOIH 612,062 612,062 0
01 AIXSHMENEXZ 612,062 612,062 0
O8XLa =484 612,062
CANEA 2EHA LN 140,000 154,352 N 14,352
403 XX SHS K201 & 140,000 154,352 N 14,352
01 XIS A2E X 140,000 154,352 N 14,352
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= 378,000
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< 113,400
01 AXSHMA=2EE 491,400 218,400 273,000
Sgusast TUEX 491,400
= 378,000
< 113,400
ANSIHA Hls=Add EAHME A 90,000 90,000 0
207 Ao H] 90,000 90,000 0
01 22 &SI 90,000 90,000 0
OAH A = &oH 29 90,000
EEAl JIEZ M === K& 539,160 337,000 202,160
308 XXM S0 A 539,160 337,000 202,160
01 AXSGHBLEES 539,160 337,000 202,160
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S2EM g sty A 2 1,600,000 ,600,000 0
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< 340,740
308 XIS SO0 490,740 413,500 77,240
s 150,000
< 340,740
01 AXSHBLAEES 490,740 413,500 77,240
OAZ0t2 d=E8A 2IXNJ(S2ENs2Y 490,740
150,000
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AZ: RYALR SN DEFH
N @olst WESE JYRE
Chel: H2Istn otMs ns&d =4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 1,903,616 1,780,920 122,696
= 735,744
& 1,167,872
01 X SHMA2E X 1,903,616 1,780,920 122,696
O&JII Al A 2 Bx 1,903,616
= 735,744
< 1,167,872
HIIHA SHLEH 25 EX 600,000 600,000 0
403 MtXISHHE X201 & 600,000 600,000 0
01 XM A=2EE 600,000 600,000 0
O&Il Al A SH&H XI& 600,000
=24 Al A 2 BX 1,451,968 0 1,451,968
= 183,936
= 1,268,032
403 A X EHHS =0l A 1,451,968 0 1,451,968
= 183,936
< 1,268,032
01 X EHHM A= E L 1,451,968 0 1,451,968
OxF=2 AlUHA R EX 1,451,968
= 183,936
< 1,268,032
F=AHA SHEH 25 X 720,000 0 720,000
403 Mt SHHSA=0l& 720,000 0 720,000
01 X ESHHMA=LE L 720,000 0 720,000
=0 AlUBHA SHAH N 720,000
29 HAZEAAH 25 118,600 172,500 A 53,900
= 118,600
403 MtXISHH S0l & 118,600 172,500 A 53,900
= 118,600
01 AXSHMA=2EE 118,600 172,500 A 53,900
O HAZEAAY 2= 118,600
= 118,600
HHEZ DSHA A= 1,920,000 0 1,920,000
= 1,920,000
403 XIS S X201 & 1,920,000 0 1,920,000
= 1,920,000
01 kXl &Ml X2 1,920,000 0 1,920,000
OFHEZ WsHAH =5 1,920,000
= 1,920,000
ATH ZdSes =5 180,000 0 180,000
= 180,000
403 A X EHHSH20lA 180,000 0 180,000




AZ: RYALR SN DEFH
N @olst WESE JYRE
Chel: H2Istn otMs ns&d =4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 180,000
01 XM A2E X 180,000 0 180,000
OXNTH ZS8dls =5 180,000
= 180,000
FIEd W XA 7,587,000 1,720,000 5,867,000
s 7,587,000
403 XIS E X201 & 7,587,000 1,720,000 5,867,000
s 7,587,000
01 XXM A2E = 7,587,000 1,720,000 5,867,000
OFxe&td HHXA 7,587,000
s 7,587,000
CNGERAIJHE XI & AHS 7,200 0 7,200
= 7,200
403 UHXSHHSA=0l& 7,200 0 7,200
= 7,200
01 X ESHMA=2E L 7,200 0 7,200
OCNGEHAIH = X &AM 7,200
= 7,200
FEXNSAH SSXNH DR HAX A (HEAY) 2,700,000 2,920,000 A 220,000
403 X SHHS =0l & 2,700,000 2,920,000 A 220,000
01 XM A2E X 2,700,000 2,920,000 A 220,000
Osdz stsisx MK =4 1,000,000
OMEA stEstsi SSXDX =4 700,000
OFFA stSXsx MK =4 1,000,000
29 dENSIHE N2 55,887 0 55,887
= 46,222
< 9,665
308 XXM SOIA 55,887 0 55,887
= 46,222
< 9,665
01 AXHHIYEES 55,887 0 55,887
OZdgEWsSoHE A 0tgelX XN&E 55,887
= 46,222
< 9,665
HECAIA ZABRTALY 75,850 0 75,850
207 Ao 75,850 0 75,850
01 eiR gl 75,850 0 75,850
O#=TAY ZBRT HLH 2 BSBAY|
75,850
HE2HZH (RS E ) 61,117 62,240 A1,128
Jl= &3l 61,117 62,240 A1,123
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A 3,900
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H3r
Wikd
RIS

62,240

17,740
17,740

37,800
37,800

6,700

6,700

Off &t 24

61,117

18,627

18,627

7,602
11,025

39,690
39,690
39,690

2,800
2,800

1,000
1,800

30
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== A
N = 0 & AF S 99 N A
20208 &= 20 A LBIG|H ZEAHE =S ~ FEAHEZ
AR pgAL= SN ENELSD
HHM: EXNAHE &=
S9l: DMBIEO XY (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
EXNES 4,846,456 2,442,425 2,404,031
= 3,838,314
& 1,008, 142
EXNZE &= 4,789,116 2,386,885 2,402,231
= 3,838,314
o 950,802
DHOEEQ XA H 3,479,294 1,694,866 1,784,428
= 3,422,314
= 56,980
X ETHEA AFS 2,666,206 866,000 1,800,206
= 2,636,206
=} 30,000
308 MXISHMSOIA 2,666,206 866,000 1,800,206
= 2,636,206
& 30,000
01 IXHHIMNEXTZ 2,666,206 866,000 1,800,206
OX & EAAS 2,636,206
= 2,636,206
OXNETEAAY =& X 30,000
NEHL 2 I M 6,750 6,750 0
201 LBt Y| 6,750 6,750 0
01 AP 22| d| 6,750 6,750 0
ONEHLBR I HH 6,750
EXN#YE RN 11,200 11,200 0
201 et | 10,000 10,000 0
01 AR 22l ] 10,000 10,000 0
OEXHHH LR 10,000
203 &R F & 1,200 1,200 0
03 AIZH =X 25 X H| 1,200 1,200 0
OEXNAEBHE2EA 1,200
ANE2H2ER =& 42,197 59,490 N 17,293
= 42,197
308 XAHXIGH SO0l & 42,197 59,490 N 17,293
= 42,197
01 AIKSHHENEXZ 42,197 59,490 N 17,293
OXN&EoI2 HHlA XH 42 197
= 42,197
NE=2 AU 228 A& 2,000 0 2,000
303 ZAZ2 2,000 0 2,000
01 Za32 2,000 0 2,000
OX&E=g HEUE 2+E A4 2,000
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A= ZEAALAZ 2N EXEB Y
HE: EXNFE 2B
S9l: DMBIEO XY (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
A== KRAES 5,530 6,320 AT790
201 gBt24d| 5,530 6,320 AT790
02 =224 H| 5,530 6,320 AT790
O/ ==2H SKAES 5,530
HE ZAIKIJE EA 745,411 745,106 305
= 743,911
& 1,500
201 LBt 9| 1,000 2,000 A 1,000
= 500
& 500
01 AP 22| H| 1,000 2,000 A 1,000
O3l 1,000
=2 500
o= 500
202 044l 2,000 4,000 A 2,000
= 1,000
=} 1,000
01 2L I 2,000 4,000 A 2,000
OME ZAIRI I EA 2,000
= 1,000
& 1,000
308 XHXIEHSOIA 742,411 739, 106 3,305
= 742,411
01 AIXSHHEMNEX= 742,411 739,106 3,305
OMNE ZAIXIJF EAF 742,411
= 742,411
C2HFA E2XHE 205,932 193, 129 12,803
T 22 T 2YEAES EXAY 120,000 138,000 A 18,000
403 XX SHHS K20 ™ 120,000 138,000 A 18,000
01 XIS A=Z2E X 120,000 138,000 A 18,000
O 22l T ZTHAIEZE EXAEY 120,000
2N EBHSE X ALY 23,100 0 23,100
403 XX SRS R 20| & 23,100 0 23,100
01 AXESHI=E2E X 23,100 0 23,100
OZ2IINEHS T XA 23,100
Lo EEY S 2Y8EFA 6,000 7,000 A 1,000
201 et d9d| 6,000 6,000 0
01 AFSR 2t 2| bl 6,000 6,000 0
OF8 &H#HE T2¥Hx=A EY 6,000
CE2HFEAEESAIY 56,832 48,129 8,703
308 XHXIEHSO|A 56,832 48,129 8,703
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